












































































































9 2x g i o E

a 2x I y E gradient 2

gradient of m I thro A 0,4

y y n x ai

s 4 Ecsc o

y Ex 4

e m
b 2x y 1 0 y Ext 4

Sub for y in L

2x Extra I 0

2x t z x 4 I O

4x t x 8 Z o

5k 10 0

5 x co

x 2

Sub for ne in n y t z

y I ta
y 3

Lines e and m intersect at 2,3

Mixed Exercise 5














































































































n parallel to m gradient of n Iz
thro B 3,0

y y HC c X

y o f x 3

h y Iz x t

Sub for y ca e

za C Ext I 1 0

2x 1 Ex Iz C O

desc t c 3 2 0

5k 5 0

Ex 5
x

Sub for x in n y Eci I
2

3 1

l and a intersect at hi

13 f 1,5 4 2

Y 71 X KI

y z 3 Xz 7C














































































































y 5 x I
2 5 4 I

y 5 set
7 5

5 y 5 7 xtc

5 y 25 Tx 7

Tx t 5g 18 0

Tx t 5g 18

x o y
No E

3 0 x
o

A f o

Area of DAOB t x 48 1

162
35 4.63 units















































































































Consider x ta

XZ tax ax at
x2 t Zan ta

Now consider
xZ t 8 x t 7

Xtc t 7 16

a

sit 8 16

Exz x 3 1 8

x Ift 8 I
4

x E x Ig
x E t

I 3 1
4

Ex 3 2 2
10x t 3

2 of 5 e t I
x El't's

Completing the Square














































2 x E 21 3 225

Ux E5 I

From GCSE x y r

Circle Centre Oso radius r

x D t g 25 r

Circle Centre 1 2 radius

In general

x att y 55
2

Circle centre a b radios r

Identify centre and radius

D x 35T gta 36

centre 3 4 radius 6

z x t y 45

centre 4,0 radius 545 or 355

The Circle



Now consider

x 35 t gta 36

I 6 1 9 t y 83 16 36
2 5 Gsc t 8g Il 0

This circle centre 3 4 radius 6 written
in a different form

ExampleI 2
j lose 6g 10 0

Find Centre and radius

x 10 c t y t Gy 10 0

x 55 25 yt 35 9 10 0

x 55 t g 35 144
2

Centre 5 3 radius 544


